10.

11.

12.

What is true among the following for collusive oligopoly ?
(a) No agreements are made. (b) Each seller is a price leader.
(c) Each firm is a dominant firm. (d) Tacit agreements are made.

What happens when two reaction curves of the two different firms intersect each other ?
(a) Cournot-Nash Equilibrium (b) Saddle Point
(c) Feasible Solution (d)  Group Equilibrium

If MPC = 0.5, then multiplier (K) will be :
(a) 172 (b)) 1 (c) 2 (d) Zero

Stagflation refers to the situation which is characterized by :
(a) Deflation and rising unemployment (b) Inflation and rising employment
(c) Inflation and rising unemployment  (d) Deflation and stagnant employment

Demand pull inflation is generated when
(a) Demand for money increases (b) Demand for products increases

(c)  Supply of goods decreases (d) Production cost increases

As per the classical theory of inflation money supply elasticity of price level is :
(a) Zero (b) Equal to one (c) Lessthanone (d) Greater than one

Which of the following models of trade cycles is based on saving — investment relationship ?

(a) Hawtray Model (b) Hicks Model

(c) Kaldor’s Model (d) All of these

Who propounded the first idea of “Effective Demand” ?

(a) Keynes (b) T.R. Malthus (c) Marshall (d) Mill
Who gave the “Fundamental Theorem of Consumption” ?

(a) Samuelson (b) Keynes

(c) Dusenberry (d) Milton Friedman

The notion of production function implies

(a) Economic efficiency (b) Technical efficiency

(c) Allocative efficiency (d) All these

What do you mean by ‘Gender Budgeting’ ?

(a) A tool for gender discrimination (b) A separate budget for women

(c) A tool for gender empowerment (d) A separate budget for men and women

Which agency estimates National Income in India ?
(a) Finance Commission (b) Reserve Bank of India
(c) Central Statistical Organisation (d) Planning Commission




1. “Hue euie S R i a =i ww a7
(a) IS THEa TE fpd STa & | (b) Tk fershar Hima AaT BT 2 |
(c) T U & BH BT B | (d) 3Tehg TS fhd ITd & |

2. TSI S q o B o o e il a5 th g Sl wred | 7
(a) -4 FgeH (b) T faeg (c) T EA (d) g Hqe

3. e =T Uy = 0.5, 9 7oreh (K) B0

(@ 12 (b 1 () 2 (d =
4. Troa= whifa & feufa fore foreroanst =1 e 2

(a) HEEhIf Ud et ST (b) HZ1 THIf Td war TR

(c) H51 Thifd Td el ST (d) sTEEhifa va fer I
5. i i Thifd 3= Bt & 9

(a) YT AT TG | (b) &G H AT T B |

(c) 3t qfd a2 | (d) Icared i ANTd el |

6.  ThIfd o IfafSa RgT= < TTER hmd T i 751 gfd hi = & -
(@) A (b) THRFTH () ThRERA (d) T @ 3rferen

7. Tafafigd § 9 SR Ik 1 I9 91 Aisd god - Hos Ty T 3G & 7
(a) B HTSA OIRECRIES] (c) hIeER UTSd (d) Tgad

8.  “Uvrel Him” o1 foam wawew fered feam 2

(a) = (b) IR AU (c) HRIA d) o=
9.  Iuun fagr=a @ e frem feme feam ¢
(a) SgeTEH (b) ™ (c) TEHa (d) Tireea hremq

10. 3TeH %o ol foam grIfRa 2 -
(a) IMdehedar (b) dedlehlcadr  (c)  3ATEed cardl (d) Jgah

11. SIS (Gender Budgeting)ﬁwm% ?
(a) TfEeTatt & ufd Heura & o Suhwr  (b)  Afgemait & o1 weh g sofe
(c) TfEeT HeTeRiTHTor < fordl U IURWT  (d) &I UG Afgetraii o ford gore awie

12. A ¥ TH 31T 1 3ol Hi H TAH HLdl g ?
(a) fora rrIT (b) R fod S
(c) h=1¥ HIfETehIg T (d) TS I
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13.

14.

15.

16.

17.

18.

19.

20.

21.

22,

23.

24.

Where is headquarters of Reserve Bank of India ?
(a) Mumbai (b)  Chennai (c) Delhi (d) Kolkata

The budget is finally approved when :
(a) Itis passed by the Lok Sabha. (b) Itis passed by Rajya Sabha.
(c) President of India gives his assent.  (d) None of them

The ‘Twin deficit’ problem means a country having :

(a) High Fiscal deficit and high primary deficit

(b) High Fiscal deficit and high budget deficit

(c) High Fiscal deficit and high revenue deficit

(d) High Fiscal deficit and high current account deficit

Major heads of capital receipts of the Central Government includes :
(a) Net market borrowings (b) Small savings
(c) Provident funds (d) Direct taxes

Revenue receipts of Government is :
(a) Recovery of loans (b) Direct and Indirect taxes
(c) Public debt (d) Disinvestment of public enterprises

The concept of employment multiplier has been developed by :
(a) J.M.Keynes (b) R.F.Kahn (c) Prof. Hazlitt (d) Prof. Stigler

The concept of ‘zero base budgeting’ was developed by
(a) Jimmy Carter (b) Peter A. Pyhrr (¢) Dalton (d) Musgrave

The current account deficit of India is increasing during 2018-19 because :
(a) Rise in international crude oil prices

(b) Merchandise import grow relatively faster than export

(c) Both (a) and (b)

(d) None of these

Which one of the following is included in the revenue expenditure ?
(a) Subsidy (b) Interest payment (¢c) Pension (d) All of these

R.B.I. can print currency notes upto the value of
(a) X 1,000 (b) 2,000 (¢) 10,000 (d) 25,000

Union Budget 2019-20 imposed a 37% surcharge on the income exceeding
(a) 2 Crore (b) X5 Crore (c) 10 Lakh (d) 75 Lakh

Which of the following is responsible for the preparation and presentation of Union
Budget to the Parliament ?

(a) Department of Revenue (b) Department of Economic Affairs

(c) Department of Financial Services (d) Department of Expenditure
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13. frord a6 31T 3fugan 1 geTer #al fra g 7

(a) 9= (b) == (c) feeeft (d)  ehrefehraT
14. 9 AT~ &9 § Tiehd HHT A1 8 I -

(a) % AN I EH W | (b) TSI AW IH & T |

(c) Tgufa 1 T firel o | (d) ZTH I B T

15.  Ifom SfRfe (Twin deficit) Taem &1 319 wsh ¢ 1 freferfea 18T 2 -
(a) 3= TSN =TT 3R 3= Afires =men
(b) 3= TAHIYIT T IR 3= ¢ =TT
(c) 3= TSN |TET IR 3= Tl |1l
(d) 3= ST =TT 3R 3= =Te] Wil =1el

16. 51T TIHR 1 Yall Tt 1 Tg@ Al § Hfeford & -

(a) ¥R ¥ I 39N (b) B ==
(c) wfersy fafert (d) JI& R
17. THR 6 Toia M 2
(a) ROTI hl et (b) T TG ST L
(c) HTESIe 0T (d) TeSTes 3THT 1 fafaw

18. TSR T[ureh 1 fora ferenfera fopa -

(a) SL.UH.HTFT (b) IRUE. HEAA (c) . gAfere (d) . feer A
19. S0 99 SIfem <Y Sraemon @ foesfid foam mn

(a) Tfterizgrn (b) AR TIRE G (¢) Sleed gRI (d) wEIE g
20. WRA H 2018-19 i 3Fafer § Ao WIa1 91 H g g3 Fi T -

(a) = d 1 SRYR HHdl | Ihg

(b) TSI 3TTTA 1 Fafa shl T o TUefTehd dsit & ST

(c) QM (a) 7T (b)

(d) 3T HHIETE
21. fr=fafad § 9 = @1 v o = § i g ® 2

(a) TfeTSt (b) TS YA (c) =M (d) Tgad
22.  STR.E.3TTE. Tod oh oh HISI b1 H5UT o Hehall &

(a) ¥ 1,000 (b) %2,000 (c) %10,000 (d) ¥25,000
23. R E 2019-20 7 fohat 3T & 31fRIe W 37% 1 JTTUVR R R 2

(a) T2HS (b) T5HS () T10em™ (d) T75m@
24. TTH U HIF HHE U Gl 997 IR U YA i o R g ?

(a) o faum (b) ATk ATHeAT < T

(c) Torcfia Ganati = fawmn (d) == fowm
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25.

26.

27.

28.

29.

30.

31.

32.

33.

34.

3s.

36.

High deficit in an economy creates :
(a) Inflation (b) Deflation
(c) Unemployment (d) None of these

Which of the following is not a characteristics of Cobb-Douglas production function
Q=AL*KP (aa>0,B>0anda+B=1)?

(a) Unit elasticity of substitution (b) Constant return to scale

(c) Linearly homogeneous (d) Varying returns to scale

For a Giffin good, the graph showing price-demand relationship is :
(a) Downward sloping (b) Horizontal
(c) Upward sloping (d) Vertical

In which decade the population growth rate in India was negative ?
(a) 1911-1921 (b) 1941 -1951 (c) 1951-1961 (d) 1971 -1981

According to Keynes, the transaction demand for money primarily depends on the level of
(a) Income (b) Rate of interest
(c) Productivity (d)  General Price level

If a direct and proportional relationship exists between consumption and disposable
income then :
(a) MPC<APC (b) MPC>APC (c) MPC=APC (d) MPC>APC=1

If gross investment is positive, then value of net investment is :
(a) zero (b) positive (c) negative (d) All the above

Under which condition National Product at current prices is higher than National Product
at constant price ?

(a) Falling price level (b) Rising price level

(c) Fixed price level (d) Fixed income level

Which of the following is correct under autarky (closed economy) ?
(a) GDP=GNP (b) GDP <GNP (c) GDP >GNP (d) GDP <GNP

Which of the following is not an objective of fiscal policy ?
(a) Employment generation (b) Economic growth
(c) Poverty reduction (d) Stable rate of interest

Which of the following is not taken into account while calculating budgetary deficit ?
(a) Primary deficit (b) Revenue deficit
(c) Interest payment on public debt (d) Balance of payment deficit

A country’s balance of payment can improve by devaluation, if elasticities of demand for
exports and imports is :

(a) Greater than unity (b) Less than unity

(c) Equal to unity (d) Equal to zero
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25. Ueh IR § 3= HTeT 30 hidl @ :

(a) FETER  (b) A HBHA (c) SRISHTHY (d) &7 & hrg T
26. Trafafad o & S Fia — STe@ 39T B Q = ALKP (00> 0, B> 03N a + p=1)F

foomar i 2 2

(a) SRR <Y 3hTE @I | (b) M % R gfqwa |

(c) ges qumTar | (d) 9T % ufeds gfawet
27. U Tl o%q & foRl qa-Af aeg sH a6 2 -

(a) I ST 3T ST g (b) afes

(c) UL hI 3T SITaT 3T (d) =&
28. TorH Tueh W WA ohl SHEEAT 91§ &L RIS &l 8 2

(@) 1911-1921 (b) 1941-1951  (c) 1951-1961  (d) 1971—1981
29. 8 h ITTAR g1 hl TH-¢ o Tl T Joid: $Heh T X ¥R el & -

(a) I (b) NI (c) ST (d) |H 9o TR
30. TG ITWT T SRS 3T o o<l €1 TF SHTIeh qva-4 g1, al Ut ferfa 4

(@) MPC<APC (b) MPC>APC (c) MPC=APC (d) MPC>APC=1
31. AT Hehet Tern wfreneh & a1 g Fwn -

(@) YATM (b)) EREM () FEREM  (d) Iudw
32, TohH o H 9OHM Yod T TP 3G FRR oot T TP 3cdTe § 3Afesh 8 7

(a) FATTATR (b) TN AT (o) RIEw () rRImw
33. U &< ATHMW refeaee & ford frafafea g s adi 2 2

(@) GDP=GNP (b) GDP<GNP (¢) GDP>GNP  (d) GDP <GNP
34, Tr=forRaa @ @ ol Tor Hifa w1 e TEi 3 ?

(a) USTRESH (b) o7l gfg (c) T HAHET (d) I G R HET
35. S HTe S AT Rl TEd e 1 9 {8 e T8 fean S g ¢

(a) Trfires =Ten (b) TS =TT

(c) ETISIH KU1 T S PTAH (d) T T T T
36. STIHCIA o UIETA Ueh <1 1 TAH HqeH 43¢ &l Tehd & Jfe Hald Td 3T & JIT 6l

2

(a) TFEAAME (b) TFERAFA (o) THFRFTR  (d) I H WX
- - e T




37. A change in a country’s balance of payments can cause fluctuations in the
(a) Exchange rate (b) Rate of interest (c) Money supply (d) None of these

38. The balance of payment of a country includes :
(a) All external visible transactions (b) All external non-visible transactions
(c) Both (a) and (b) (d) All internal and external transactions

39. While measuring price effect, which of the following remains constant ?
(a) Money income (b) Real income (c) Priceratio (d) All of these

40. Demand for labour is
(a) Direct demand (b) Cross demand
(c) Derived demand (d) Income demand

41. An Iso-quant curve is :
(a) concave to origin point (b) convex to origin point
(c) upward sloping to right (d) None of these

42. According to UNDP, the HDI rank of India was in 2018 :
(a) 129 (b) 128 (c) 131 (d) 130

43. In which of the following years India’s Balance of Trade was not in deficit ?
(a) 1970-71 (b) 1976-77 (c) 1986-87 (d) 1989-90

44. According to 2011 census, the sex-ratio in Uttarakhand is :
(a) 933 (b) 963 (c) 965 (d) 930

45. Which of the following economists was first to introduce “Acceleration Principle” in
Economics ?
(@) JM.Clark (b) P.A.Samuelson (¢) J.M. Keynes (d) Robertson

46. Credit market is included in which of the following markets ?
(a) Organised market (b) Gilt-edged market
(c) Industrial securities market (d) Unorganised market

47. First Export Promotion Zone (EPZ) in private sector was established at :
(a) Kandla (b) Vishakhapatanam
(c) Noida (d) Surat

48. Neighbour’s curve means :
(a) Depression of country is transferred to other.
(b) Boom of a country is transferred to other.
(c) Both (a) and (b)
(d) None of these
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37. Torell o1 H WA W o UG o HRUT SAX-TGId &l Tehdl & -
(a) TafmaE@d (b)) =ISEH (c) TIHTIMHE  (d) 39 Y BE T

38. forefl <1 1 AT Tge AfETeTd LT &
(a) &) ST’ g T - I (b) Tfl SR ST T - I
(©) (a) T (b) EHI (d) @ AT TS o o -a

39. <hHd YHTE hl AT ohid TR A 4 9 fRR Ear g ¢
(a) Wigh3T (b) TEARHIT  (c) Tod I (d) ITgad

40. SHHIAME

(a) TSI (b) IS T (c) S =M (d) ST
41. T HH HIHAT T -

(a) Tet fog o ufe Tl e 2 | (b) T formg il SR ITAI AR |

(c) T AN FHWh B2 | (d) 3T GBS T
42. J..ELH. b TR TY 2018 H WA 1 A {IehTe Foehich H T AT :

(a) 129 (b) 128 (c) 131 (d) 130
43. Trferfea 8 9 fora 9 § TRA 1 STIR-Ae o1 H T8 W1 8 2

(a) 1970-71 (b) 1976-77 (c) 1986-87 (d) 1989-90

44. 92011 6 TTUMAT b FTHR IHEUE H feAmTard 2 -
(a) 933 (b) 963 (c) 965 (d) 930

45. fopm arefomrelt 3 vgef I srefee § e fagT i weqa T ¢
(a) ST FH (b)) WU AFAET  (¢) .. hHH (d) TEEH

46. 9ME IR = 4 9 forg ISR 6 37l AT R ?
(a) ETSA SR (b) TIee-ToE INR
(c) 3rEnfires Slayfd ST (d) IS IR

47. TSt @ & vgen frafa sieames ST Tfua gaT o -
(a) HIUSAT (b) TovmEMET OEEIRE! (d) ¥@

48. USIH k1 95k T AU B -
(a) o ! HGl GEY ¥ H TAMIANG AT | (b) G0 ohl il GHL Q21 H TAMHTIRA AT |
(©) (a) 3R (b) QM (d) =T A B TE
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49. Which of the following is not included in the four concepts of Hicks relating to
reformation of the concept of Consumer’s surplus ?
(a) Quantity compensating variation in income.
(b)  Quantity equivalent variation in income.
(c) Price equivalent variation in income.
(d) Income compensating variation in price.

50. The main problem of Economics is
(a) Over Production (b) Unemployment
(c) Choice making (d) Poverty

51. The Phillips curve describes the relationship between which of the following ?
(a) The federal budget deficit and trade deficit
(b) Savings and Investment
(c) The unemployment rate and rate of inflation
(d) Marginal tax rate and tax revenue

52. ‘Expenditure and not income can be a better measure of an individual’s ability to pay tax.’
This view has been given by :
(a) Kaldor (b) Lerner (c) Samuelson (d) Pigou

53. The price adjustment in balancing Balance of Payments crucially depends on the elasticity
of :
(a) on the elasticity of supply functions
(b) on the elasticity of demand functions
(c) on the elasticity of supply and demand functions
(d) None of these

54. Under the system of flexible exchange rates regime, the adjustment in the balance of
payment is brought about by the changing in :
(a) Prices (b) Exchange rate
(c) Income (d)  Prices and Income

55. Make-in-India public policy has an aim to :
(a) Remove Bureaucratic Sloth
(b) Eliminate Red-tapism
(c)  Turn the country into a low-cost manufacturing power house
(d) All these

56. The specific requirements of the start-ups can be fulfilled through :

(a) Angel Investors (b) Venture capitalists
(c) Crowd of funding (d) All of these

57. ‘Pradhan Mantri Jan Dhan Yojana’ attempts to promote :
(a) Financial inclusion (b) Financial literacy
(c) Banking habits (d) All these
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49. Team o Iuvied St g=d Sl gREN & A § T @R gronst § efafaad § ee
afefora 7 2 ¢

(a) T O foqies Tiaa (b) 3T H AT HHqe T
(c) 3T H hHd THqed Thed (d) hiTa H 1 &faqes g
50. 39T 6l YW THE R
(a) IA3AET  (b) USRI (c) =M (d) T
51. T o @ fpfory =sr forag orafa 2 2
(a) TET S 97T 3R SR =1eT (b) =dTg faw
(c) SRISHTRI ¥ Ug ggT Thifd &t (d) T T LTI HL IH
52. ‘3T <l ST = ferd Shl ohL < T BT 3Teeh 3701 019 & |” g feam fea -
(a) ICER (b) TR (c) HrgeTed (d) mg
53. A 1Y % Hqei § hiad THRISH Haeaqul €9 & fut g :
(a) qfd ol i A" W (b) WM el shl A T
(c) Ifcl AT WA et <hl ol W (d) T G Hig TEI
54. uftgdasiter fafm gt 61 sreen & F=aid, YaH e 3§ a9rieH, aiedal grr feman smar
2
(a) HmaiH (b) Tatmaetd (c) 3IFH (d) mdi g ITF H

55. Heh-3-3fvEar A ifd 13T 7
(a) TIHME EreATa o1 T
(b) ATA-hIATRITE! ST TN
(c) <! HH-ATTA areft fafmior qrer g139 o uftafda &

() T@EAf

56. -3 (Fresrent) 1 oo Seed i <6t et @
(a) g Rl o A | (b) &S AT o HIEAH ©
(c) fte fora arwur < T @ (d) wTgad

57.  YYHEH 9 99 ASET TcHTEd hid! &
(a) Tocfaaumesm (b)  foxia farem (c) Sfh 3med (d) Tg i
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59.

60.

61.

62.

63.

64.

6S.

66.

67.

68.

69.

70.

The Central Govt. to make indirect check on export of Onion, announces statutory
minimum export price of Onion :

(a) 1000 $ per tonne (b) 900 $ per tonne
(c) 850 $ per tonne (d) 800 $ per tonne
The main instrument of budgetary policy is :

(a) Public expenditure (b) Public revenue
(c) Public debt (d) All these
Economic development can be measured by :

(a) Gross Domestic Product (b) Death Rate

(c) Pollution (d) None of these
MNREGA was implemented in whole country on :

(a) 1% April, 2008 (b) 2" October, 2008
(c) 2™ October, 2005 (d) None of these
Article 51 A (G) says :

(a) Conserve national environment (b)  Growth of national environment
(c) Save forest and forest animal (d) All these

The policy of family planning was adopted by the Government of India :

(a) 1950 (b) 1952 (c) 1956 (d) 1962
The Yellow Revolution refers to the production of :

(a) Wool (b) Fish (c) Silk (d) Oil-Seeds
The ‘Green Revolution’ in India has contributed to :

(a) Inter-regional inequality (b) Inter class inequality

(c) Inter crop inequality (d) All these

When was the first modern paper mill set up in the country ?

(a) 1827 (b) 1812 (c) 1846 (d) 1854
Under liquidity trap condition supply of money would effect :

(a) Increase in interest rate (b) Decrease in interest rate

(c) No change in interest rate (d) None of these

Which one of the following is not a constituent of the supply of loanable fund ?

(a) Saving (b) Hoarding (c) Bank Credit (d) Disinvestment
If CRR is given 20%, cash deposit of 10 Lac credit create worth :

(a) S Lac (b) 2Lac (c) 3Lac (d) 10 Lac
Autonomous investment curve is always :

(a) Positively sloped (b) Negatively sloped

(c) Horizontal line (d) None of these
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58. ohwg LR A TS FATd T Tle €9 | Ueh @M b ol 3qeh1 fafersh = fafa gea =ifva

o
(a) 1000 STeR gfd o (b) 900 TR Ufe 2
(c) 850 STeR Ufd 2= (d) 800 STeR U

59. SIS Hifd < Y& TTH @ -
(a) WTENMH T (b) TEWHH ATH  (¢) TEAEHHRT  (d) ITg§
60. 3ok forenTd <h! ATT ST HehelT @ -
(a) T TT] IS gRT (b) TG
(c) TEEU g (d) 3H & fepelt o g T
61. TEUT (TH.UA.3TR.E.S1.U. ) Trgul <91 § 0] 33T -
(a) 1319,2008 (b) 23RS, 2008 (c) 23S, 2005 (d) FTH I RIS &l
62. 3eHeT 51 A (G)FEaT?
(a) TSI TATERT BT TR (b) T TR <hl Telfg
(c) SHTEl 3R STefl Al o1 S T9 (d) Tgad

63. iR ferem ifd, wrRa Tier gry iR 6 Tt

(a) 1950 (b) 1952 (c) 1956 (d) 1962
64. el smift feraeh ScTET A Hefq B 2

(a) I (b) T (c) WH (d) foes
65. ¥ H g shife 4 = fean B

(a) A= TR FEHA (b) =R o STEHHAT

(c) AR % IHHFAT (d) ITgaHf
66. <1 H YW MY YT et ohel TATUA <hl TR 2

(a) 1827 (b) 1812 (c) 1846 (d) 1854
67. Tl ST <h Tefd & g1 ht ST 1 91 JWTE BT 7

(a) SIS RHIG (b) =TS e H Al

(c) IS €U H HIE qiadd Tl (d) T8I HE T
68. TIfeRa H © I /0T A1 hINT <hl YL T Th T8 & ?

(a) w=d (b) T (c) o dg (d) Tafem

69. 9T TheT TR T 20% &l a1 10 TG FGAT ST Foha1 TG T T ?
(a) 59@ (b) 27@ (c) 3@ (d) 10WmE

70. IR =T 956 A1 SRR gHIT BT & -
(a) YAHEH @I (b) RUTHB @ (c) ot @l (d) 3T A HE T
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72.

73.

74.

75.

76.

77.

78.

79.

80.

81.

82.

Which one of the following is the apex bank for rural credit ?
(a) RBI (b) NABARD
(c) Commercial Bank (d) Co-operative Bank

MUDRA Scheme was launched to finance in which of the following sector ?
(a) Corporate sector (b)  Education sector
(c) Health sector (d) MSME sector

Post reform trade policy does not cover :

(a) Free imports and exports

(b) Rationalisation of tariff structure

(c) Special economic zones

(d) Increased trade through public sector agencies

Which one of the following is not included in NITI Aayog’s functions ?
(a) Co-operative Federalism

(b)  Allocation of Central funds to states

(c) Elimination of poverty

(d) Safeguarding environment and ecological assets

Effective rate of corporate tax on new manufacturing firms now :

(a) 15% (b) 16% (c) 20% (d) 17.01%
How many millions urban population of India was estimated as per 2011 census ?
(a) 377.1 (b) 286.1 (c) 217.6 (d) 381.2
Second Five Year Plan emphasized on :

(a) Agriculture development (b) Advancement of energy sector
(c) Social sector financing (d) Large scale industrialization

Backward bending ‘Engel Curve’ belongs to :
(a) Superior goods (b) Inferior goods (c¢) Neutral goods (d) None of these

When average cost is falling, then marginal cost will be
(a) Only falling (b) Only rising
(c) Either falling or rising (d) None of these

Paradox of poverty among plenty faced by farmers is due to the agricultural products
demand for them being :
(a) Elastic (b) Inelastic (c) Perfectly elastic (d) None of these

Long-term average cost curve also known as :
(a) JCurve (b) Engel curve (c) Envelopcurve (d) Phillips curve

The National Mineral Exploration Policy (NMEP) was introduced in :
(a) 2015 (b) 2016 (c) 2017 (d) 2018
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71.  freifera # omior o dior 3 ol TRen e B 7

(a) YR fierd S (b) HTETE

(c) arorfsTes S (d) TSR dH
72, “HgT AET T H fohd & o foa awor gq e h TR 7

(a) HIUNE &=

(b) Torem e

(c) TameT &

(d) UH.UE.UH3. &F (Y&, Y U9 geI0 30 &)
73.  3nfie g % w1 = Hifa o aftrfera 78 2 -

(a) A= ETE Ud b (b)  TIesh FTET T Ffardehtul

(c) Tomiw amfofes &= (d) TRHl HEATSAT gRI AR Ihg
74. Tr=taRaa @ oF o1 v ifa st & s § aftfaa T8 R 7

(a) TEHI TEAG (b) HEI HE HT TS hl TG

(c) Tl famon (d) wferor wa urfiefashia Teaf 61 e
75, 31a T fafmior serrsal W mRuRe o hl g e g 2

(@) 15% (b) 16% (©) 20% (d) 17.01%
76. a9 2011 T STHIUFT & AR TR i &t e fepat fiform smesfera <t it 2

(a) 377.1 (b) 286.1 (c) 217.6 (d) 381.2
77.  Ted geadia Tt § Haifies e feam m -

(a) iy foepm (b) It &5 1 Fre

(c) wmIRSHR &t fort o (d) =< duH W b

78. Y < 3T bl 53T Uoied I Fermrdl wafera @ 7

(a) Sepgaegd (b)) FrpEEgd (o dewEmd (d) FHIREAE
79. 99 3H1Hd AN TR @ 8l a9 ST AN ol Yei @ gnt ¢

(a) oherel Tl g3 (b) A TGl 53

(c) e & = wed g (d) T & IS T
80. SEIAT o s AT 1 fatiemaTE foham1 I T& AT TSAT & FiTeh STl B SCATGT <l TIT

BB

(a) WeER (b) SR (c) YoiaaeeErR  (d) THARETE
81. CrEihIel 3TEd oNTd 93k 38 W & fi ST ST B

(a) SIah (b) USATH (c) fowm®rash (d) Tfera ash
82. UTH Wi Ir=awvr Hifd I& i T -

(a) 2015 (b) 2016 (c) 2017 (d) 2018
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83.

84.

8S.

86.

87.

88.

89.

90.

91.

92.

93.

94.

The Small Factory Bill regulates the working and service conditions of workers in small
manufacturing units employing

(a) less than 20 workers (b) less than 30 workers

(c) less than 40 workers (d) less than 50 workers

Which one of the following is associated with ‘Participatory Notes’ (PN) in India ?
(a) Consolidated Fund of India (b) Kyoto Protocol
(c)  United Nations Development Program (d) Foreign Institutional Investors

The 20" Livestock Census of India was conducted in the year :
(a) 2018 (b) 2019 (c) 2020 (d) None of these

Commission for Agricultural Costs and Prices (CACP) is to recommend Minimum
Support Price of the how many crops ?
(a) 19 (b) 21 (c) 23 (d 25

Indian economy was exploited during the British rule before independence through :
(a) Export of machines made goods to India

(b) Investment in railways

(c) Land revenue on Indian peasants

(d) All these

In which year, first industrial policy was declared in India ?

(a) April 1948  (b) April 1949 (c) April 1956 (d) April 1980
Among the following, which one is not a component of absolute poverty ?

(a) Good house (b) Food

(c) Good health (d) High income level

Direct methods of exchange control are :

(a) Intervention (b) Exchange restriction

(c) Dboth (a) and (b) (d) None of these

The Union Budget 2019-20 proposes zero income tax upto the annual income of :
(a) R 2.51akh (b) % 3.0lakh (c) R 4.0lakh (d) R 5.0lakh

Among the following which economist propounded the ‘Wage Theory of Profit’ ?
(a) Prof. Howley (b) Prof. Knight (c) Prof. Clark (d) Prof. Taussig

The outlines of second five year plan was prepared by :
(a) B.N. Gadgil (b) C.N. Vakil
(c) P.C. Mahalanobis (d) V.KR.V.Rao

According to Peacock and Wiseman’s analysis, public expenditure increases :
(a) In smooth and continuous manner  (b) As time passes
(c¢) Injerks or step like manner (d) Both in the short and long run
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83. oY HR@H fages oy fafmiv e § ™ it 3T TaT 3ral ol = T g S TSI
T&H L 8 -

(a) 20 foehi A | (b) 30 Ifoehi T A |
(c) 40 fireni 4 A | (d) 50 ARt G A |
84. frfafiga & @ = v v d wiiéfeuett e (i w) & wefa ® 2
(a) W 1 HHfehd Iy (b) I TIhic
(c) T TP foremred Hrisr (d) Toresht Teemma e
85. WA <ht 20 off USIEH ST I § Tede St et off -
(a) 2018 (b) 2019 (c) 2020 (d) 39U HE &
86. Y AT 3R Hiwdi & fort s (v ff) =i frifera @ @ fepael waeti 2 =mam weH
e 1 T ¢t sifemd 7 2
(@) 19 (b) 21 (c) 23 d 25

87. A ¥ Uget fsrfest omea & S W sreferereen o1 qied T o g feram mam o -
(a) YRARITHIAHIgEHAi B f=a (b)) Toa § faf=m
(c) WIRdHE fopemi W it Tored (d) wEud

88. WA hl Ugell JTfires Hifa form o enfya <6t weft 2
(a) 31948  (b) 37U 1949 (c) 31 1956 (d) 37 1980

89. fomifera o @ et Wit 1 aeh PR AT TE 7 7
(a) ST=BIIAEE (b) WIeH (c) IV (d) I IFER

90. ot formmr ) et fafkmi 2
(a) & (b) fafmE-ufasa (c) (a)dUT(b)TET (d) TH BT

91. hrd §e 2019-20 # fohaft anfiien 31 Sreaford <ht TRt s STrereRt S 8

(a) T25@@ (b)) T3.09W@ (c) T40m@ (d 5.0
92. ToifeRa H ¥ forw Frefemet 3 AW w1 Heigll fagT Wit fomam 2
(a) I3 (b) I AT (c) . &Th (d) 9. 2

93, fgetar uradfa o1 <t wR@T R Y TRt of
(a) M. MEAE (b) . ThRE  (¢) NH. mEeEieE(d) o AR 1™

94, iehieh TSI fergeiyr o SO ATdsIieh &9 agdl & :
(a) = Ud Hdd aleh 9 (b) EHI %Y
(c) ST YT Th-Teh L alloh & (d) 3TCIhIS T SEiehlet QAT A
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9s.

96.

97.

98.

99.

100.

101.

102.

103.

104.

10S.

Among the following who had rejected the hypothesis of kinked demand curve under
oligopoly ?

(a) Hall and Hitch (b) Macklap (c) D.S. Watson (d) G.J. Stigler
Which type of tax helps in reducing the disparity of income in an advanced economy ?
(a) Proportionate tax (b) Progressive tax

(c) Regressive tax (d) All of these

‘Fiat Money’ is that which is :

(a) Accepted by overseas banks only

(b) Issued as money by the Government in crisis time
(c) Issued by monetary authority

(d) None of these

Which of the following sectors of Indian economy was the most dominant sector during
2018-19 ?

(a) Agricultural and Allied Services (b) Manufacturing

(c) Services (d) Industry

“Planning without statistics is a ship without rudder and compass.” The statement is given
by :

(a) Croxten and Cowden (b) Bowley

(c) Tippet (d) Kendall

Which of the following would be an appropriate average of determining the average size of
readymade garments ?

(a) Geometric mean (b)  Arithmetic mean

(c) Mode (d) Median

Which of the following is an ideal index number ?

(a) Lespeyre’s (b) Fisher’s (c) Paasche’s (d) Bowley’s
Among the following, which one is associated with cardinal approach ?

(a) Revealed preference theory (b) Indifference curve analysis

(c) Utility theory (d) None of these

Consumer reaches a saturation point for a commodity, when marginal utility (MU) will be :
(a) Negative (b) Zero (c) Positive (d) None of these

Causes of differential rent was explained by
(a) David Ricardo (b) Adam Smith (c) Malthus (d) J.S.Mill

Laffer curve measures :

(a) Relation between tax rate and tax revenue

(b) Aggregate tax and aggregate non-tax revenue
(c) Total tax burden and total payment burden
(d) Total income and total expenditure
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95. fifeRa © @ fohe 1IR3 37w farehiard |t 31 TRehedT bl @I foha 7
(a) TawafEm (b)) BT (c) Sug.arEd  (d) S R

96. TorHl 3T STAITEAT T I T HL 3 shl STHAFAIS ohl THH Hid H TR w1 § 7
(a) STUTfGh L (b)  TATIaRiTel ot (c) Sfammrt &t (d) Tgad

97. ‘WIfcE 4gr 9 B A foh -
(a) <hact faesft sl grT TR I ST B 1(b)  Hehe o THT H TR gRIT SR 5T |

(c) ifges srferspricat gro fmifir | (d) TTH A HIE T

98. 2018-19 b1 31afer H friferd H B WA STIeaET 1 hIF | & T THISIIAT TaT o ?
(a) Y T qEg Han (b) Tafmior
(c) Terad (d) 3Tenfies

99. “Hiferehl & o 3mfefeh e udqar wa feun goe I ed Jars & 9uF 8 17 I8 %A foon
TWT%:
(a) ShIoIC Td HI3eH (b) =
(c) feure d) e

100. e TR (oot 3¢ L) & Hewl ¥ 3 3ft|d 3R & fuftr 7q fifera o @ & @
e IUYF BT 7

(a) TOIRRETET  (b) THR HIEA (c) WgaH (d) TfErERT
101. Treifend | 19 @1 3TTEY Feehish & ?

(a) AfERRFH  (b) THERH (c) YT (d) =3
102. Tr=ifera & & 19 TUMHTETER SUTTH § Hefid @ ¢

(a) ke MM frgr= (b) T a5k ferverur

(c) AT fagra (d) T A BIE -
103. Toreft oq % forl SRt ot i foreg 2 2, 511w SwRifin (MU) greft

(a) RUTTCH (b) I (c) TS (d) T G P &S
104. Torvices T o RO i AT & g i Wit

(a) cSfefeEr (b)) venfay (c) TeUd (d) S.wm. fis

105. THL 5k HIY LT & -
(a) LI L HLH I 3T o UL a9 o |
(b)  THT T AYT THY TR-HL 377 |

(c) el T W qUT el WA W |
(d) T 3 TE FA 7 |
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106.

107.

108.

109.

110.

111.

112.

113.

114.

115.

116.

117.

Fiscal deficit in India denotes :

(a) Total receipts — total expenditure

(b) Budgetary deficit + loans and other liabilities
(c) Revenue receipt — revenue expenditure

(d) None of these

Chairman of 15™ Finance Commission is :

(a) Dr.Y.V.Reddy (b) Dr. C. Rangarajan

(c) Dr. A.M. Khusro (d) Sri N.K. Singh
Environment (Protection) Act was enacted in India :

(a) 1981 (b) 1986 (c) 1991 (d) 1996
Which system of issuing notes is adopted in India ?

(a) Proportional Reserve System (b) Percentage Deposit System
(c) Minimum Reserve System (d)  Simple Deposit System

The Bank rate at the time of establishment of R.B.I. was :
(a) 3.5percent (b) 4.5 percent (c) 5.5 percent (d) 6.5 percent

Who is the author of the “Economics of Imperfect Competition” ?

(a) A.Marshall (b) Mrs. John Robinson
(c) F.Benham (d) D. Watson

Which one of the following is not a function of commercial bank ?

(a) Issuing currency (b)  Credit creation

(c) Issuing traveller’s cheque (d) None of these

The reduction or covering of foreign exchange risk is called :
(a) Hedging (b) Speculation (c) Intervention (d) Arbitrage

When was “Foreign Exchange Management Act’ (FEMA) implemented ?
(a) 1°*May, 2000 (b) 1%'June, 2000 (c) 1°'July,2000  (d) 1°" August, 2000

What is the maximum rate of tax in GST (Goods and Services Tax) in India ?
(a) 22percent (b) 24 percent (c) 28 percent (d) 26 percent

The highest populated State of India is :
(a) Bihar (b) Uttar Pradesh  (c) West Bengal (d) Rajasthan

Which one of the following is not a part of demand for money function developed by
Milton Friedman ?

(a) Permanent income (b) The level of liquidity

(c) The expected rate of return on bonds (d) The expected rate of returns on equities
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106. YTRA H TTehIS 1 €1 T 31 B
(a) o I — oA 2 (b) ST T + IUR IR 37 <Far
(c) T e — ot &5 (d) TH 9 g &I

107. 159 fort 31T o 7L B -
(a) SLAEAdLE (b)) SLHL.IASE (¢) sLuw gm (d) s, Ry

108. 9Td § TTaRoT (FRegor) i oy e i o

(a) 1981 (b) 1986 (c) 1991 (d) 1996
109. W § e fanfe <t oo =t ugfa sroamf wfi 2 2

(a) ruTferes fifr wgfa (b) 3R FATA T g f

(c) —au fafy ugfa (d) TN ST ggfe

110. 3. 37TS. <hY TATAT o 0 Sh e off
(a) 359w (b) 4.5 gfawa (c) 5.5 gfawa (d) 6.5 9faerd

111. “THIRT ATH SHTHR HFATE” % AGH B & 7
(a) U RS (b) et S UfeEH (c)  Th. 981 (d) 2. aeE

112. F=faRad o & 1 o1 SR ST S HITE 8 ?

(a) g Ffee (b) TG H G
(c) garcTd =ik <1 forfer (d) FTHAFETE
113, Toresft fafm Siftaw srem geaq i et a1 3 -
(a) B (b) @ (c) B&dE (d) 3TaTaU

114, “foreeft g1 Yo stfafem” (FEMA) e @] g1 ?
(a) 182000 (b) 132000 (c) 12000  (d) 1 3T 2000

115. 9Rd H S.wm. &, (Fqyd Td Ta1 ) § STfeehad s shl g g ?
(a) 229fawd (b) 24 Ufawd (c) 28 gfawa (d) 26 e

116. YR T TaT{eeh SHEEAT ITeA] TT 2 -

(a) TR (b) W I (c) Hfeem s (d) TSN
117. T=faRad @ =i a1 us firee Hsia gru foshfed qg1 & win & weM FT =R 78 8 7
(a) TR I (b)  TLAAT T &R

(c) STUZH T IR Tfdhet shi G (d) zfFadt |y gfawet <t gt
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118.

119.

120.

121.

122.

123.

124.

125.

126.

127.

Among which of the following in India, the chairperson of G.S.T. Council is ?
(a) Prime Minister (b) Union Finance Minister
(c) Chairman Finance Commission (d) None of these

Which of the following institution is known as “World Bank” ?
(a) IMF (b) IBRD (c) IDA (d) IFC

Which one of the following assumption is not correct for revealed preference analysis ?
(a) Consistency (b) Transitivity (c) Rationality (d) Weak ordering

To produce a given level of output, a firm maximizes profits when the marginal rate of
technical substitution is equal to the ratio of factor prices. This principle is known as

(a) Diminishing marginal productivity = (b) Increasing marginal productivity

(c) Equi marginal productivity (d) Law of diminishing return

Which of the following curves is not a U-shaped ?
(a) The average variable cost curve (AVC)

(b) The average fixed cost curve (AFC)

(c) The average cost curve (AC)

(d) The marginal cost curve (MC)

Consumers are likely to get a variety of goods under :
(a) Perfect competition (b) Monopoly
(c) Imperfect competition (d) None of these

Price discrimination is undertaken with the aim of :
(a) Increasing sales and maximizing profits

(b) Reducing sales and raising prices

(c) Minimising cost and maximizing revenue

(d) Serving the market without earning profit

Which of the following is not a characteristic of monopoly ?
(a) No close substitute (b)  Price discrimination
(c) Free entry and exit (d) Price maker

Who has stated “supply creates its own demand” ?
(a) Adam Smith (b) J.B. Say (¢) Ricardo (d) Marshall

Quasi rent refers to :

(a) Total revenue — total variable cost

(b) Marginal revenue — average variable cost
(c) Average revenue — average variable cost
(d) All these
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118. fr=ferfiga # wia # St.wm &Y. gt 1 g SR g e ¢

(a) YT (b) e for et

(c) et 3w o s1eme (d) T8 T HIE T
119. Frafaiad d i @ g “fava S Haai 8 ?

(a) BTATE (b) SEHIME () IWIT (d) IETHH
120. F=feTiaa Ar=ranaTi # i T Yehe 3TfmH fageryor & fau a8l T8 2 7

(a) Gadr (b) GshHUTAl (c) Teasmyuian (d) oA HHSGA

121. T G §U ITE o T i 3¢9~ A b o7, Teh HH 1Y ol Afeehan hiclt & ST dehriieh
oo shi THHTT gt H1e HHd o T o SR 8t 8 | I8 g a1 T 2 -
(a) BTHHAN T ScATEhdl (b) G EHT=T Icarehdl
(c) TH-HH IcqTgehal (d) BTEEE gidwa &1 frm

122. A TR T A I Th U ATHRHITE & 7
(a) 3Nd IRFAe AT (AVC) 9k (b)  3Hd fRR @1 (AFC) a5k
(c) 37Ed «@FTd (AC) T (d) =t @rT (MC) a6

123. 39T F9Ed: fafay T v id & -
(a) U1 TR 3 31 (b) THIHR & FA=rid
(c)  3Tqut Ffcrmifiran o Sr=aa (d) 39 G g TEl

124. i fatie v H1 R AR
(a) Tosha S@™ 3R ey 3rfereham & & ford
(b)  TIsha 1 ST AT Hd FeH B
(c) TANTA =JaH S T W eehad i B
(d) TomT oY U SR 6 AT B

125. =1 4 9 &1t Teniftresr ) foivar 18 @ 7

(a) Toehe TR T B (b) Hma favg
(c) Ta oIyl Ud S (d) Hma fmfar
126. “qfct 379t T T G A 7 17 R a2
(a) Tenf@wy (b)) I @ (c) Tepret (d) wA

127. 3 T TraEfd
(a) A AT — P TRFRie AT (b) HHT M — 3T IiEd-sie AT
(c) 3T|d MM — 3d UREdsid e (d) a8 @t
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128.

129.

130.

131.

132.

133.

134.

13S.

136.

137.

138.

According to Prof. Knight, profit is a reward for :
(a) Risk bearing (b)  Uncertainty bearing
(c) Innovation in business (d) Rent of ability

Total cost is maximum when :
(a) Average cost is zero. (b) Marginal cost is zero.

(c) Marginal cost is above zero. (d) Average cost is negative.

The ‘Modern Theory of Rent’ has been developed by :

(a) J.M. Keynes (b) Alfred Marshall

(c) Joan Robinson (d) D.H. Robertson

According to the assumptions of income flow, there are two sectors in an economy :
(a) Agriculture and industry (b) Industry and services

(c) Households and firm (d) All of these

‘Cost Push Inflation” arises when there is :
(a) Risein wages

(b)  Sectoral rise in prices

(c) Risein prices of imported raw material
(d) All these

‘Purchasing Power Parity Theory’ has been developed by
(a) William Blake (b) John Whitley
(c) Gustav Cassel (d) David Ricardo

The circular flow of income will remain constant when

(a S+T+M=1+G+X b) S+T+M>1+G+X
(c) S+T+M<I+G+X (d) None of these

The size of marginal holding in India is :

(a) less than one hectare (b) less than two hectares

(c) less than three hectares (d) less than four hectares

Which of the following Sustainable Development Goals (SDG) is targeted to ‘Ensure
availability and sustainable management of water and sanitation for all’ ?

(a) SDG2 (b) SDG4 (c) SDG6 (d SDGOI
The condition of Pareto optimality holds correct under :

(a) Monopolistic Competition (b) Perfect Competition

(c) Oligopoly (d) Monopoly

‘Plan Holiday’ in Indian Planning is identified with period :

(a) 1991-93 (b) 1985-87 (¢) 1966 —69 (d) 1979-81
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128. 1. FT8E % TTER AT Tl & :
(a) SRgW I&a 1 | (b) AT a8t =1 |
(c) TIIHM™ T Ty I | (d) TR & ST 1 |

129. $cT AN TUhaH B S
(a) 3TEd AN I B 2 | (b) HHT=I AT I B B |
(c) = STTd I | FU B 2 | (d) 37T AT KOS Bidl 2 |

130. TRTH 3T 3T TG forepféa foha i -
(a) W H g (b) 3PS T g
(c) <9 Tfemaa gra (d) .=, TEEEA g

131. 3T TTE shl W1 o TR Ueh refeee & g1 &35 81 ¢ -
(a) FINATIIFT (b) FWMT@HIE () UERTEHE  (d) T@aef

132. “ANTd 5= THIf’ Icq=1 Bl 2, 97& 2l &
(a) WU Halg (b) hmalH &= ghg
(c) IATdeATAHRI hHAIHdG  (d) Igad

133. “oh3 Sifed g fargra Taesfara feram mm -

(a) Torform sdes g (b) A St gra
(c) TIEATE HEA G (d) Sfos feprel gra
134. 31T o1 =h JaT8 fRR M Se
(@ S+T+M=1+G+X b) S+T+M>I+G+X
(c) S+T+M<I+G+X (d) 3TH G B &I
135. XA 4 9= SIdl 1 TR 2 :
(a) T gaRIWAHA | (b) TEHIWIHA |
(c) HBFRITASA | (d) TREFRI Y HY |
136. T=fcifiaa o == o1 waq faem @igw 8 S Al o ford arht 37 resar <Y Suctsydn 317 Tl
Y=g <l GifTad o o forr @fera g 2

(a) WESIS2 (b)) THSIS4 (c) WESIS6 (d TwESIS9
137. U1 5aHdT 6! fefa sHeh starid gl i 2

(a) USRI T (b) ot wfcRnfira
(c) ITHTIYHR (d) THIRIHR
138. WA f=iieM § 2o taehmer fhe smafe 1 @ 2
(@ 1991-93  (b) 1985—87 (c) 1966 — 69 (d) 1979 -81
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139. A population pyramid of a country shows the
(a) Age composition of male and female population
(b) Age composition of male population
(c) Age composition of female population
(d) Age composition of rural and urban population

140. Essential components of Human Development are :
(a) Sustainability (b) Productivity (c) Empowerment (d) All these

141. When two or more countries enter into an agreement to eliminate import quota and tariffs
to promote trade among themselves, then such a group of countries is called :
(a) Free Trade Area (b) Custom Union
(¢) A Common Market (d) Both (b) and (¢)

142. The main objectives of the 12" Five Year Plan were
(a) Inclusive growth and poverty reduction
(b) Inclusive and sustainable growth
(c) Faster, sustainable and more inclusive growth
(d)  Sustainable and inclusive growth to reduce poverty and unemployment

143. A deficit in balance of payments can be corrected by :
(a) A reduction in interest rate (b) Discouraging capital inflows
(c) Anincrease in interest rate (d) Restricting remittances

144. The Head Office of WTO is in :
(a) Washington (b) Hague (¢) Geneva (d) London

145. ‘Mission Indradhanush’ launched by the Government of India associated with
(a) Immunisation of children
(b) Construction of smart cities across the country
(c) India’s own search for earth like planets in the outer space
(d) New education policy

146. Debenture holders of a company are its :
(a) Shareholders (b) Creditors (c) Debtors (d) Directors

147. In a given year in India, official poverty lines are higher in some states than in other
because :
(a) Poverty rates vary from state to state
(b)  Price levels vary from state to state
(c) Gross state product varies from state to state
(d) Quality of public distribution varies from state to state

148. In new definition of MSME, the investment limit of micro industries increased upto :
(a) 50 Lakh of turnover (b) 25 Lakh of turnover
(c) 75 Lakh of turnover (d) 1 crore of turnover
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139. W%ﬂwwmﬁ@(populaﬁon pyramid)ﬂ?&iﬁ%‘[%:
(a) 5N Ud Higell SHEET 1 A AT (b)  G&Y SHEEAT hl 3T G

(c) HfEet e 6l 3 T (d) e U TR SIS < 31T ST
140. 9 feorepra & 31feme g 2 -
(a) WURUREAT  (b) ScTEehdl (c) EferThLaT (d) Tgaft

141. 59 1 AT 314k ¢ 3T T SATIR 1 TG ¢ o To1d ST TR TUT T¥[eh U HiH oh
o2 TwEiiaT d 2, T 39 bR o <N o HYE i el Il & -
(a) HHFAUREA (b) HH-Yeh T (o) T AR (d)  (b) 3 (c) g

142, 12& qoasi JIsH1 o T 3699 9
(a) guTash foem wa e | ot &
(b) TSt vd Faq foe |
(c) O, Taq 3R 31ferss gaTesht fasme |
(d) TR 37 SIS 61 S B Fad Ud urash faem |

143, WM SqeH | =1¢ & HefaRad § § frdes grI 98! fpan s aeshat @ 7

(a) SIS H HHY (b) STt 3T=qate ! garcaTEd AT
() = HIfg (d) S o sfreer oRTE
144. WTO (353, 21.311. ) Tl J&ATTH &4 &
(a) f3TTed (b) & (c) ST (d) o=
145, YA THR g I i TR Firem sgoy arafa 2 -
(a) ST T TaLeTor

(b) T Fdia b1 R < ¥ famior K |
(c) WA <l T wTa SFane o et S Ug i @i
(d) i fare fifar

146. TR gEcstHfihEd @ -
(a) IR (3T °gRH (b) FHUTEH (c) =holl (d) FreEes

147. T2 a4 & via 4 3o Yol § it T 61 [T 3171 9 371 § it -
(a) TN TH A TN A= |
(b) Tir=-firm o=t @ g T e -fm 2
(c) FA T 3cure - r=ai A fim 2 |
(d) TSI ferawor <At Torer ot fora-form weeTi | i1 2
148. TH.TH.TH 3. h1 Tt aftamsn # &g Iai bt o e s w2

(a) 50 TG o THIER d | (b) 25 TG o THIER T |
(c) 75 TG o THIER d | (d) 1S THINR T |
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149.

150.

151.

152.

153.

154.

155.

156.

157.

158.

The district with highest population in Uttarakhand as per 2011 census :
(a) Almora (b) Dehradun
(c) Haridwar (d) Udhamsingh Nagar

“Interest is the reward paid for parting with liquidity for a specific time.” This statement is
of :

(a) Knut Wicksell (b) Erik Lindahl (c) J.M. Keynes (d) Bertil Ohlin

Following informations are given :
3
C=20+ 1 Y and Y = 80. What is the value of APC ?

(a) Zero (b)y 01 (c) 0.5 (d) 0.075

The technique of presenting data by pictograms was developed by :

(a) Otto Neurath (b) Spearman

(c) Dr. Max Lorenz (d) Ya-lun Chou

“Statistics is the Science of Averages” is a statement given by :

(a) Bowley (b) Boddinton (c) Secrist (d) Seligman
Standard deviation is calculated on the basis of

(a) Median (b) Mode (c) Mean (d) None of these

If Mode is 20, Arithmatic average is 8 and variance is given 121, what would be the value
of standard deviation ?

(a) 7 (b) 11 ) 10 @ 15

Karl Pearson’s coefficient of correlation can be calculated with help of :
(a) Median (b) Mode
(c) Mean Deviation (d) Standard Deviation

Alternative method for the calculation of correlation coefficient (r) may be :

(a) ~/bxy—Dbyx (b) +/bxy x byx
(¢) A/bxy+byx (d) None of these

Among which of the following type of data Questionnaire is used ?
(a) Secondary Data (b) Primary Data
(c) Both Primary and Secondary Data  (d) None of these
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149. 2011 6T SFIUMET o STTER ITUGVE BT T Teh TG ITEAT IIG & -
(a) 3TeHIST (b) <G (c) BRER (d) IgAMEETR

150. “sITS 98 Ui & S U ffvaa srafi & o aterdn w1 gftem & o v 2 2 1 98
%947-[%:

(a) Tfpda (b)) Wefaem (o) . Fi= (d) aféa anefer

151. FTAgE R @ =&
c=20+%YamY=80,APC$megﬁTn?
(a) A (b) 01 () 0.5 (d) 0.075

152. Toeh! @ Fasrer@ grT Tefdtd s ot fafy forenfera 6 oft -
(a) A= (b)) TG (c) SLuAFEEARS (d) I-TH A

153. “Oiferh me wI foqa e I” Hua 2 -
(a) «=SA (b) wifges (c) T (d) afem

154. 3919 forarets <t o <61 STt |
(a) HEIHRTY (b) TEASH (c) TUFRAEEE  (d) 3TTH H HIE T8l

155. 3¢ SgeTeh 20 &, TR 1T 8 & 3T 0T 121 Tezrm 7 g1 at Yo fomre™ g 2
(a) 7 (b) 11 () 10 d 15

156. <hTet TURE HEEEs=4 TUTTeh <h! TTUMHT ftifehd § & ferereh! Tgmrar & <Al ST Hehell B 7
(a) TEIHI (b) wgAH (c) wrex feem (d) A e

157. TEHTERY U (r) TUMT B Sehfcush T &l Fehell & -
(a) ~/oxy—byx (b) A/bxy xbyx (¢) ~[bxy +byx (d) 3TH A B TEI
158. TSI ohT ITFNT FTARad | forl T & 3TTehsl & GUEY o ford foham ST 2

(a) Tediaes 3The (b) TUfteh 3The
(c) i mfhes wd fediaes 3tehe (d) T GBS T
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159.

160.

161.

162.

163.

164.

165.

166.

167.

Indifference curves do not cross each other because :

(a) Each curve is parallel to the other.

(b) Each curve represents a different level of satisfaction.
(c) Each curve relates to different persons.

(d) It is an assumption.

The flagship initiative ‘Purvodaya’ is associated with
(a) Steel (b) Cotton (c) Cement (d) Tea and Coffee

Pradhan Mantri Annadata Aay Sanrakshan Abhiyan (PM-AASHA) mechanism includes :
(a) Price support scheme (b) Price deficiency payment scheme
(c) Pilot on private procurement stockists (d)  All of the above

If the demand is perfectly inelastic, then an increase of 10% in price will lead to :
(a) 10% decrease in demand (b) 20% decrease in demand
(c) 5% decrease in demand (d) Neither increase nor decrease in demand

The production possibility curve is based on :

(a) Contract curve in the Marshall-Edgeworth input box
(b) Contract curve in the Marshall-Edgeworth output box
(c¢) Social welfare function

(d) Price-Ratio line

Which statement is true regarding economic equilibrium ?
(a) Absence of movement

(b) Absence of the rate of change in movement

(c) Both of (a) and (b)

(d) Zero conjectural variation

In the case of monopoly, which of the following equation is true ?
Where, MR is marginal revenue, AR is average revenue, ¢ is the elasticity of demand

(a) MR=AR(1—3 (b) MR=AR(1+5
(©) AR=MR(1—5 (d) AR=MR(1+5

The marginal productivity of labour and capital on the Ridge lines is :
(a) Negative (b) Zero (c) Infinitive (d)  Unity

The Law of Variable Proportion comes into force when :
(a) There are only two variable factors.

(b) There is a fixed factor and a variable factor.

(c) All factors are variable.

(d) Variable factors yield less.
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159. IGRAIAT S5 T GEL %1 &1 hled & Hi1eh
(a) I oI5k Teh GO oh M Bl & |
(b) T oIk TqfS o T TR T Eih BIT 2 |
(c) I g T=1- 1= =afeae & srafa g 2 |
(d) IBTHAAR |

160. Y@ U&c qaicd HH I & -

(a) T (3HE) W (b) HIH (HieN) T () HHH (d) TFTIHEH T
161. JUHET A=TerdT 3T Geemor SAREE (fun-T T vg vg ) a- inyfeld ar e :

(a) WA GHA AT (b) T AU YA AT

(c) Toof wiie wrferel W arere (d) Tga
162. IS AT QI SAAEER & 1 9od | 10% 1 gfg a1 T &g hI AT o

(@)  10% shl et &1 st (b)  20% hl S B et

(c) 5% bl St Bl Sy (d) S gig ran w7 gl

163. ITUTC TEITEHT Fsh TN &
(a) T — T 3AYC — ST H HIgde Ioh
(b) T — THGY IITYE — T T HIoF A5k
(c) TSI HeAToT B
(d) hITd — U @t

164. AT § 91 & Gra=4 § 1 91 hYH T 8 ?

(a) i bt Srgafeufa (b) i ST g o ufterda Y rgufefy
(c) THI (a) T (b) (d) I Hfeqd afeEdsfierar

165. ThITHehR shl 2 § 1 | § i |1 gt 98l 8 2
J&T, MR = 1= 31

AR = 3T18d 3T
e =TT A
(a) MRZAR(I—%) (b) MR=AR(1+3
(c) AR=MR(1—3 (d) AR=MR(1+5
166. R T@1at’ W om wa doft shi FHiurd Seargehdl Bl & ;
(a) RUTHS (b) I (c) 3= (d) TP

167. UREd-sier ST 1 fem srfades o 31 2, 9«
(a) <hact o TNEdRIe H1EH & |
(b) T TR AR 3R Ueh Yiad-siiet 91eH & |
(c) &t mrer ufterdasier 2 |
(d) Rt e S ST T @ |
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168. Which of the following theory is known as ‘the third root of logical theory of demand’ ?
(a) Indifference curve analysis (b) Utility Analysis
(c) Giffin’s Paradox (d) Revealed Preference Theory

169. The total revenue of the producer under monopoly will be maximum when price on the
demand curve is fixed at a point where :
(a) Elasticity of demand is zero. (b) Elasticity of demand is one.
(c) Elasticity of demand is two. (d) Elasticity of demand is infinity.

170. Net Domestic Product at factor cost is :
(a) G.D.P. (MP) — Depreciation — Indirect taxes + Subsidies
(b) G.D.P. (FC) + Indirect taxes — Subsidies
(¢c) G.N.P. (MP) + Subsidies — Indirect taxes
(d) G.N.P. (FC) — Subsidies + Indirect taxes

171. All residential construction and inventory investments are included in fixed investment, is

called :
(a) Personal Consumption Expenditure (b) Gross Domestic Investment
(c) Government Purchases (d) Net Foreign Investment

172. Which one of the following is not a major component of Gross Domestic Product (GDP) ?
(a) Personal Consumption Expenditure (b) Gross Private Domestic Investment
(c) Net Personal Income (d) Net Exports

173. Net National Product is :
(a) Gross National Product — Interest Payment
(b) Total Production — Total Expenditure
(c) Import— Exports
(d) Gross National Product — Depreciation

174. From the following data Gross Domestic Product at market price would be (figures are in
% crore) :
Net National Income 3000, Depreciation 165, Economic Assistance 45, Commodity tax
240, Import 300, Export 360

(a) 2940 (b) 3135 (c) 3180 (d) 3420
175. The cross elasticity of demand between tea and coffee :

(a) Negative (b) Zero (c) Positive (d) None of these
176. National Income Accounts classified an economy into how many sectors ?

(a) Five sectors (b) Four sectors

(c) Three sectors (d) None of these

177. Cob-web Theorem is an example of
(a) Partial Equilibrium (b) General Equilibrium
(c) Static Equilibrium (d) Dynamic Equilibrium
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168. Treiferd & @ o |1 fagr=a “wi < dTfeheh T o1 e Get I8 & ST A8 ?
(a) T sk fagero (b) 3T fergeryor
(c) Tifeea = fatremama (d) wehe ARmE fagr

169. THIUHR b =T IcATGHh 1 Hol N JTUHaH BT AlG Hot T TN 7T 56 o 34 foreg
T BIAT & SR -
(a) "M AR | (b) AMH ATTHEER |
(c) HAMHIATR | (d) TMFH A= AL |

170. |1 AN W I Be] 3G @ -
(a) Thd T 3G (TSR ol W) — oo BT — ST T + Aot
(b) ThE BT 3T (T AR ) + ST L — ALl
(c) Hhel PN ITTE (TSR Hod W) + FIHET — TIE Tl
(d) Thel TP IS (TTY AT UT) — Tt + TTcTeT T

171. fRr fafmm g gt ey fmiv st o s fFow = afffag e ST g, e @ -

(a) Safekaeh U 2 (b) Teher Tie] faf=m
(c) THH T (d) g foesh fafmm

172. T=fafad & @ & goher =] 3c1g (SH.E.) &1 T g 3T I 7 7
(a) AT UM @ (b) Tha it ey fafrm
(c) Ig SAfeaTa 3™ d) g Fata

173. g T 3 R -
(a) B UFH 3G — TS YTaH (b) T IUGH — T =
(c) 3T — fata (d) HA L IATE — IoIBE

174. T THh! § SR AT TR Tehat Bie] 3cdTE 2 (T HUS H)
TG UL 31 3000, TeIBTE 165, 3T TERIAT 45, g T 240, 3TRTE 300, F37d 360

(a) 2940 (b) 3135 (c) 3180 (d) 3420
175. =¥ TS 6] o G& A1 <hl 3T &9 Bidl &

(a) RUTCHS (b) I (c) ©ATHS (d) T A HIE TEI
176. TE 37T i@ 37efedae 1 i foha &l o affehd it & ?

(a) = aa (b) =R &= ) o=am (d) T HHE TG

177. Hhg-SITeAT (Shig—dd) THY 3T & :
(a) TR F<IeH (b) HERIAged  (c) Wfdsaged  (d) IS g<ier
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178.

179.

180.

181.

182.

183.

184.

185.

186.

187.

188.

189.

Which one of the following curve’s shape is rectangular hyperbola ?

(a) TFC (b) AFC (c) FC (d MC
Lerner’s index of monopoly power is indicated by :

P—MC P—MC P—AC P - MR
(@) MC (b) P (©) AC (d) P
The equilibrium is unstable and indeterminate under :
(a) Edgeworth’s duopoly model (b) Chamberlin’s oligopoly model
(c) Bertrand’s model (d) Pareto model

In the long term perfect competition will be :
(@) LAC=Price (b) AR=MR (c) MR=MC (d) All these

In which one of the following market situations, the firms mutually interdependent in
pricing and output decisions ?

(a) Monopolistic competition (b) Monopsony

(c) Oligopoly (d) Monopoly

The price elasticity of demand for common salt is :

(a) highly elastic (b) highly inelastic

(c) perfectly elastic (d) equal to one

“Static Function” of money is refer to :

(a) Medium of exchange (b) Basis of credit

(c) Liquidity of property (d) Distribution of income
Which of the following is “Selling Cost” ?

(a) Expenditure on raw materials (b)  Expenditure on transportation
(c) Expenditure on advertisement (d) Wages given to labourers

Which of the following one is the Fisher’s equation of exchange ?

MV + M!V! MV
(a) P= T (by P= T
(c) MV=PT (d) All these
Reserve Bank of India (RBI) is known as
(a) Banker’s Bank (b) Agent of Government
(c) Adviser of Government (d) All of these

The concept of money illusion was given by :
(@) A.C.Pigou (b) IJ.M.Keynes (c) J. Tobin (d) A.H.Hanson

The banks are required to maintain a certain ratio between their cash in hand and total
assets. This is called

(a) SBR (Statutory Bank Ratio) (b) SLR (Statutory Liquidity Ratio)

(c) CBR (Central Bank Ratio) (d) CLR (Central Liquidity Reserve)
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178. Tr=feiRad & @ &1 T o5F 1 ATHR RATHR ATTHIAT EIaT 8 2
(a) TEC (@ Th N (b) AFC(TThH) (c) FC (ThH) (d) MC (W )

179. T 1 UehTTeh i Srfe Tesieh fgi= Tehe STl 2 :

@ PK/Il\éIC ®) P—PMC © P;éC @ P—PMR
180. T AR vg rfuffim gar g -
(a) TSEY o GATIHR ATSA H (b) TSR & FTUTRIBR e |
(c) g HEAH @) Terwead
181. <refepret # qot wfernfirar gt -
(a) LAC=%md (b) AR=MR (c) MR=MC (d) IgaHt
182. F=feifiga som feafaai 0 & fopm v 0 w1 3IcTed 31t Shima e for & gefes ®9 3
TH-g Wt 2 7
(a) TR i (b)  Shdl THITUHR
(c) SACHTRRR (d) THIRHR

183. T 9% o e A A A= 2 -
(a) 3ITcaTereh AMIER (b) JTcaferh Selleel (c) Uuiaai deeR  (d) TS oh ST

184. Tg1 o “Tifcish Rl 1 TraY B -

(a) fafrmaem mema (b) TTE S ATUR Y

(c) HwHIel <Al qeeTen & (d) 3% R d
185. fAffga § s fasra ama 2 2

(a) = HIA T (b) UNEE W

(c) formmmw e (d) #iftehi &I € T Tl
186. T=ifend o ohiv |1 Ueh R o1 farfma wefientor & 2

(a) P:MV%MIVI b) P:g

(c) MV=PT (d) TgEH

187. W fistdl deh (TR.&1.3108. ) &1 AT AT 2

(a) ShiHEH (b)) TWHRHTAT (c) THR B HAEHR(d) Ig Tt
188. Hifger farym <t sraremom o gry < = oft

() THEHLE (b)) S.UH.FHH (c) 3. e (d) TUF. g
189. S! G Fehe Ud Ui foN <! fAerffta STard o ST WaH ! el a1 & -

(a) TH.ELIR. (AT s JTUT) (b) TH.UA.HR. (e qlerdm 314T)

(c) T.&.3AR. (Ffi S FI) (d) ©1.UHA.3TR. (F<R qLEAT hI)
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190.

191.

192.

193.

194.

195.

196.

197.

198.

199.

200.

Bank rate is decided by which of the following ?
(a) Government of India (b) State Bank of India
(c) Reserve Bank of India (d) Securities and Exchange Board of India

Component of high powered money is :
(a) currency with public (b) cash reserve with banks
(c) other deposits with central bank (d) All these

Which one of the following is not a credit control instrument of Central Bank ?
(a) Bank Rate or Discount Rate (b) Open Market Operations
(c) Cash Reserve Ratio (d) Credit Creation

Appropriation Account is called
(a) Consumption Account (b) Production Account

(c) Capital Account (d) Current Account

Gross Value Added (GVA) in India reflects

(a)  Supply side of Economy (b) Demand side of the Economy
(c) Both (a) and (b) (d) None of these

Which one of the following economists gave the term ‘Vicious Circle of Poverty’ ?
(a) J.M. Keynes (b) J.B. Say

(c) Ragnar Nurkse (d) J.B. Clark
Which of the following is included in M, ?
(a) Saving deposits (b) Demand deposits

(c) Gold stock (d)  Assets under money market mutual funds

The R.B.I helps to finance India’s foreign trade through which of the following ?

(a) NABARD (b) EXIM Bank

(c) State Bank of India (d)y IDBI

The main feature of inflation is :

(a) Increase in deficit budgeting (b) Increase in incomes of people
(c) Increase in money supply (d) All these

Relative poverty found in :

(a) Socialist country (b) Feudalist country

(c) Developing country (d) Capitalist country
Opportunity cost is :

(a) The minimum average cost of production
(b) The sacrifice of any alternative choice

(c) The minimum marginal cost of production
(d) The sacrifice of the next best alternative
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190.

191.

192.

193.

194.

195.

196.

197.

198.

199.

200.

ofeh 12 T 1 & fopre grar feifta <61 STt @ 2

(a) YA AR (b) W2 & AT sfogan

(c) Trd de 31T sfogan (d) e iy v faf o

I Tferd q51 1 T @ -

(a) SIAT % T T (b) bl o UTE Tehg ToTel

(c) h=g1d Sieh % ITH 3= FHE d) =TT

1 o 9 B U hli S o1 g A= Sushr AE R 7

(a) o T AL Hldl & (b) Tol IR h Foramd

(c)  +The HINTUTA (d) =@ gsH
ElERISERSCIETARE I

(a) IUAFEI  (b) ST Gral (c) St @ (d) <@
WA § Fehel ol Hagd (GVA) Sa idl & :

(a) STdeawer 1 gfd 9a (b)  STHIEAT T HAT YT

(c) @Ml () T (b) (d) A BIE T

frafoarftaa 5 & form srefemeft = <frdiaan % geesk w1 fomm feam

(a AW HFE (b)) & (c) TRTHE (d) <&t w=TTH
M, # Frefified o & 1 @1 e grar @ ¢

(a) S=dSHT (b) HAT ST

(c) vl wugR (d) g1 IR R %S o e AT
IR, e 1 9 foreres g wia  foreef samar 61 ot yeM S § qee et B 2
(a) FTETE (b) U S (c) YRAFTCd® (d) 3TE.201.3mE.
whifa <t g fersivar 8

(a) ©¢h o H hg (b) I ! 3T H Jhg

(c) A gl d g ) ¥z o

et T frerdt §

(a) EHISETE < H (b) HTH=eTE) S |

(c) ferenrasfier i # (d) iramet g |

T AT & -

(a) IIqH 3THd AN ST H &I H (b))  foheft Iehfeueh 9= o T & &9 |
(c) W HHT< AFTA SATEA h ®IH  (d) 3Tl HATH foehed o 1T &9 H
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